Basic Rules for Algebra

. (a+b)* =d®+2ab+ 1 7. ar =3/am = {/a)"
. (@a—=b)Y =a*—2ab+ b’ 8. d**=d'a’
C(a+ba—b)=a—b 9. ar—szz_:

ca'=1 10. (@) = "

La" = ai 11. (ab) = d'b’
= a 2 (3) =5

Basic Rules for Exponentials and Logarithms

0 _
e =1 7. ln<£>:lnx—lny
eX+y — exey y
8. In(x")=rInx
X—=y ex
e - In x
ey 9. ¢" = xand In(e¥) = x
L e = () 10. Inx = yifand only if &’ = x
.In1=0 11. "%~ = x and log,(a*) = x
.In(xy)=Inx+1Iny 12. log,x = yifand only if ¢’ = x
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Basic Rules for Trigonometric Functions

sin x
. tanx =
COS X
1
secx =
COS X
1
.csCx = ——
sin x
COS X
cot x = —
sin x
sin x + cos?x = 1
tan> x + 1 = sec? x
sin(—x) = —sinx

cos(—x) = cos x

10.

11.

12.

13.

14.

15.

16.

. sin(x + y) = sinxcosy + cos x siny

sin(x — y) = sin X COS y — €OS X Sin y
cos(x + y) = cosxcosy — sinx siny
cos(x — y) = cos xcos y + sin x sin y
sin(2x) = 2 sin x cos x

2 )
cos(2x) = cos” x — sin” x

.2 1 — cos(2x)
sin” x = —

> 1 +cos(2x)
cos“ x = —

Basic Rules for Inverse Trigonometric Functions

. arcsin(sin x) = x and sin(arcsin x) = x

arcsinx = yif and only if siny = x

. arccos(cos x) = x and cos(arccos x) = x

arccos x = yif and only if cos y = x
arctan(tan x) = x and tan(arctan x) = x

arctanx = yif and only if tany = x

10.
11.
12.

. arcsec(sec x) = x and sec(arcsec x) = x
. arcsecx = yif and only if secy = x

. arccsc(csc x) = x and csc(arccsc x) = x

arccscx = yifand only if cscy = x
arccot(cot x) = x and cot(arccot x) = x

arccot x = y if and only if cot y = x



